Solve the equations.
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drag and drop the right number in the box

40+5= 6+ 3=
21+7= 27+ 9=
1243 = 12+ 6=
15+5+= 18+ 3=
16+8= 10+10 =

oaLIVEWORKSHEETS






What needs to be done?

Aaron removes 29 candies from a jar. There
were originally 79 candies in the jar. How
many candies are left in the jar?

There are 34 peanuts in each box. How many
peanuts are in 7 boxes?

Denise starts with 68 apples. She shares
34 with Bonnie. How many apples does
Denise end with?

Answer:

Answer:

Answer:
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14

15
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Watch the related video below:

3 children want to share 4 apples so that
everyone gets the same amount. How
much apple can each child have?
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